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Pr1nc1ples of Microeconomics - Classroom Experiment (3): Market Trading A - Seeing the Invisible Hand
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Students form groups of 2-3 to participate in three markets, each with 30 groups, 15 buyers and 15 sellers.

In each round, each group can buy or sell one unit of the product. Each group will receive a playing card. If
your card is red, you are a seller; if it is black or a joker, you are a buyer. Please keep your card as a secret.
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Seller (Black): Your cost of production is the “number on your card multiplied by 10” (J=11, Q=12, K=13,
A=1), so your profit is the difference between the selling price and this cost. For example, if your card is ‘2
of clubs,” and the selling price is $30, your profit is $30 - $(2x10) = $10. If the selling price is $100, your
profit is $100 - $(2x10) = $80. If you do not trade, you earn nothing (but incur no cost).

ﬁ*@girﬂﬁﬁi%“4Jﬁ%%“@wwﬁﬁwm%m’ﬂ“%J%&m<%%ﬁ# L
Gl L R B RP S o ROk ek APt ¥ Lo d o §RF R
et Ao THIEE R AL (L SR E - 820) T 42 ook Fp R e L+ Ao 7Rl
(ﬁ@ﬁ&jiiﬁAiiﬁ)AAO%%ﬁaﬁgﬁig,ﬁwwbmpm%@wljo

Buyer (Red): Your value of the product is the “number on your card multiplied by 10” (J=11, Q=12, K=13,
A=1, red joker = 15, black joker = 14), so your gain from trade is the difference between this value and the
price paid. For example, if your card is 9 of Hearts,” and the price is $40, then your gain is $(9x10) - $40 =
$50. If the price is $80, then your gain is $(9x10) - $80 = $10. If you do not trade, you gain nothing.
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you cannot reverse a trade once it is reported. After reaching a deal, please come to the front with your
record sheet and card to report your trade. All prices are announced and recorded on the blackboard.
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i i o The experimenter acts as the specialist taking orders from both sides (“buy $X” or “sell §Y™")

and recording them on the blackboard. If you want to accept the other side’s standing offer, simply
shout “take” and come to the front with your record sheet and card to report your trade. [Use MobLab!]
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Profit Calculation: After each round, please record your value (or cost) and transaction price, and calculate
your profit (or gain) for this round. Total profit divided by 10 (30 for MobLab rounds) will be your grade.
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Name Major/Year Student ID#
el L B
Eeaga i B
Eeaga i B
Round (* &) 1 2 3 4
Color(Mw gEd ) | R(l=)~B(Z) | R(&z) ~B(2) | R(iz) ~B(Z) | R(&x)~B(2)
Num. (¥ & #cF)
Dollar (" & £ %f)
Price (& 2 i )
Earn/Lose (£ 45) | E(F%) ~ L(R%) | E(#k) ~ L(B%) | E(Bk) ~ L(R%) | E(%) ~ L(#%)
Profit (4% e 117E)
Trading Rule Free Form Free Form Visible Hand | Visible Hand
(2 % 5.7)) Bargaining Bargaining (—JF% 7R end) (F 8 Lens)
(A d =10 (p 2210 Use MobLab!
Total Profit By Hand = (Profit in MobLab recorded directly!)

Answer the following questions ® & T 7| i® 4% :
1. How does prices (and bidding) change across rounds for each trading rule? 7 fr & 2 % AT » §
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2. Which trading rule is “better”? Can you come up with better rules? ¥8— B 2 % 2P|t i4F ? 7 it
B 43R eg ?



